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1 2 3 4
Pwlyh YwlnGwnpwlwb hhdGwnpwih GJuwquagnt)b swihp 4,631,333 50,000 fuwhunnid wnlw sk
LanhwGnip (ubthwlywh) ywwhwwih Gjuwquagnt)b swihp 30,161,410 5,000,000 fuwhunnid wnlw sk
Uy LGnhwGnip Yuwhwnwih b rhuyny Yzrdwé wlnhdlbiph gnidwnpGbph dhol Guqugn) 24.16% 12% fuwfunned wnlu sk
hwpwpbpwygnepntlp
U," PwGlh puinép hpwgytith wywnhyGtiph U plnhwanip wynhyGiph gqnudwnGtiph Ghel 32.31% 15%|  fuwfunnid welw sk
GJwquaqntjb hwpwpbpwygnipynilp
U,2 Pwllh pwipdp hpwgytith wynhyabph b guwhwie wwpiwynpnipyntGGtph dhpl 60%|  fuwfuwnnid wnlw st
GJwquaqgntjb hwpwpbpwygnipynilp 136.87%
b31 Ut thnfuwnnih qény nhubh wnwybjwanyb swihp 18.22% 20% fuwhunnid wnlw sk
U,? bunpnp thnfuwnentGlph gény phulh winwbjwgny)G swihp 94.80% 500% fuwfunnud welw sk
U,' Pwllh hbn Yuwyws 0kl whdh gony rhulh wrwdbjwagnyG swihp 4.31% 5% fuwfunned wnlw sk
U,? Pwllh hbn Yuwyws pnpnp wGdwlg gény nhulh wrwdbjwanyG swihp 18.79% 20% fuwfunnud welw sk
Swjwunwbh Iwbpwwbnnipjwb YaGunpnGwlwb pwGynid nbnwpwfudwséd wwpunwnhp
wwhnrunGtiph 0Jwqugneyb swthp
33 npwiny, wpwwndnipny X 2%, 18% fuwhunnid wnlw sk
UpwwndnipwihG nhpph b pwGyh pGnhwanip Yuwwhwnwih dhel wnwybiwagntG 0.60% 10%(  fuwfunnid welw sk
hwpwpbpwygnepntlp
Luwn wrwGdhb wpwnwpdnplbph jncpwpwbsinip wpunwndnygh nhpeh L pwGyh plGnhwbnip
Jwuwhwwih dhsl wnwybjwgneb hwpwpbpwygnipnilp®
UUL nnjwpny 0.00% 7% fuwfunnud welw sk
Gypnjny 0.00% 7% fuwfunned wnw sk
NnLuwywh nnipithny 0.01% 7% fuwfunnud welw sk
Uy X X tuwhunned wnbw sk
Qnpéwnhp wnbonpkl U.Quuunjwl
Qfuwdnp hwdwwwh N.Uquunjwl
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